
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

5th Month, 2nd Week, 3rd Day Review Exercise 9 Q # 2 (i, ii, iii)

Q.1. Choose the correct options.   (1 x 6 = 6)  
(i) Perpendicular lines always intersect each other at:

 _____ 
(a) 20o (b) 45o (c) 90o (d) 120o

(ii) Line that divides an object into two indentical pieces is called:


(a) perpendicular line    (b) mirror line  
(c) segment         (d) ray   

(iii) A cuboid has _______ faces.  ______ 
(a) 6 (b) 12 (c) 8 (d) 4

(iv) Number of times a shape looks the same in one full turn is called:


(a) symmetry    (b) centre of symmetry    
(c) power of symmetry     (d) order of symmetry   

(v) If the value of largest angle made by intersecting lines is 120o, then the

value of its opposite angle will be:

 120o 
(a) 60o (b) 50o (c) 110o (d) 120o

(vi) A hemisphere has _______ edges.  ______ 
(a) 0 (b) 1 (c) 2 (d) 4

 Answer the following questions:  
Q.2. Define parallel lines. (1x2=2) 
Q.3. Define perpendicular lines. (1x2=2) 
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